
NAPLAN 2012 paper test answers

Year 3 Reading Numeracy Language 

Conventions

1 a a a

2 d b b

3 b b b

4 d a d

5 b c dark

6 a a felt

7 d c plays

8 b d path

9 a d pillow

10 c c chance

11 c a rainy

12 b d large

13 d c boil

14 c a vegetable

15 d b unable

16 a a looked

17 b d snack

18 a c slowly

19 c d juice

20 b b moonlight

21 d a chew

22 c b promised

23 c b balance

24 a b actor

25 3,1,4,5,2 18 dragonflies

26 d d a

27 c 3.2 b

28 c 15 c

29 a 10 d

30 c 6 c

31 d 107 a

32 b 6 b

33

*see note 

below 7 d

34 d (i) 5 (ii) 100 a

35 c 9 c

36 a b

37 b b

38 c
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39 a

40 b

41 d

42 d

43 c

44 d

45 b

46 d

47 c

48 a

49 c

50 d

51 b

*33 Response refers to the cause of change established in the text: 

it will keep filling with sand/dust. 


